

# Lecture 10: More chain rule

Monday, February 6, 2017 12:20 PM

$$f(x) = e^{\sin x}$$

$$u = \sin(x)$$

$$\frac{du}{dx} = \cos x$$

$$f(u) = e^u$$

$$\frac{df}{dx} = \frac{df}{du} \frac{du}{dx}$$

$$\frac{df}{du} = e^u$$

$$f'(x) = e^u \cdot \cos x$$

$$= e^{\sin x} \cdot \cos x$$

$$\frac{d}{dx} f(g(x)) = f'(g(x)) \cdot g'(x) = e^{\sin x} \cdot \cos x$$

warning  
notation  
clarity!

$$f(g(x)) = e^{\sin x}$$

$$g(x) = \sin x$$

$$f(x) = e^x$$

$$g'(x) = \cos x$$

$$f'(x) = e^x$$

Practise

$$1. \quad \frac{d}{dx} \sin^2 x = \frac{d}{dx} (\sin x)^2 = f'(g(x)) \cdot g'(x) = 2(\sin x) \cdot \cos x$$

$$f(g(x))$$

$$f(x) = x^2$$

$$g(x) = \sin x$$

$$f'(x) = 2x$$

$$g'(x) = \cos x$$

$$2. \quad \frac{d}{dx} \sin(\sin x) = f'(g(x)) \cdot g'(x) = \cos(\sin x) \cdot \cos x$$

$\cdot f(x) = \sin x$

2.  $\frac{d}{dx} \sin(\sin x)$

$f(x) = \sin x$        $g(x) = \sin x$   
 $f'(x) = \cos x$        $g'(x) = \cos x$

2 1/2.  $\frac{d}{dx} \frac{1}{x^6} = \frac{d}{dx} x^{-6} = -6x^{-7}$

3.  $\frac{d}{dx} \frac{1}{\sin^6 e^x} = \frac{d}{dx} \left( \frac{1}{(\sin(e^x))^6} \right) = \frac{d}{dx} (\sin(e^x))^{-6}$

$f(x) = x^{-6}$        $g(x) = \sin(e^x)$   
 $f'(x) = -6x^{-7}$        $g'(x) = \dots$

$-6(\sin e^x)^{-7} \cdot g'(x) = -6(\sin e^x)^{-7} \frac{d}{dx} (\sin(e^x))$

$-6(\sin e^x)^{-7} \cos(e^x) \cdot e^x$

$f(x) = \sin x$        $g(x) = e^x$   
 $f'(x) = \cos x$        $g'(x) = e^x$

More practice

1.  $\frac{d}{dx} \sin(\cos(\tan x))$

$f(x) = \sin x$   
 $g(x) = \cos(\tan x)$

1 1/2.  $\frac{d}{dx} e^{2x}$

$f(x) = e^x$   
 $g(x) = 2x$

2.  $\frac{d}{dx} e^{(x^2+2x+1)}$

$f(x) = e^x$   
 $g(x) = x^2+2x+1$

3.  $\frac{d}{dx} \sin^9 x$

4.  $\frac{d}{dx} \sin^9(2x+1)$

$f(x) = x^9$   
 $g(x) = \sin(2x+1)$

take derivative of both

$$f(x) = x^a$$
$$g(x) = \sin x$$

$a^x$

5. notice

$$e^{\ln x} = x$$

take derivative of both sides to solve for  $\frac{d}{dx} \ln x$ .